C:# Trouver un complément manquant (dans les 10)

Nom:
Résoudr e chaque probléme. Réponses
1) +7=9
— 1.
2) 5+ =7 2.
3.
3) 2+ =7
4,
4) +1=4
— 5.
5 8+ =9 6.
7.
6) +7=8
8.
7) +9=9
— )
8 1+ =2 10.
11.
9) +3=7
12.
10) 2+ =9
e 13.
11) +1=9 14.
15.
12) +5=6
13) +4=7
14) 3+ =8
15) +5=9
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C:# Trouver un complément manquant (dans les 10)

Nom: Clé
Résoudr e chaque probléme. Réponses
H 2 =
2 +7=9 . 5
2 5+ 2 =7 2 2
3 5
3 2+ 5 =7
4 3
4) =
_ 3 *1=4 . 1
5 8+ 1 =9 6. 1
7 0
6) 1 +7=8
8 1
7) =
0 +9=9 . 4
8 1+ 1 =2 10. /
11. 8
9 4 +3=7
12, 1
100 2+ 7 =9
_ 13. 3
11) 8 +1=9 14. 3
15. 4
12 1 +5=6
13 3 +4=7
14) 3+ 5 =8
15 4 +5=9
1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|

[ Maths ] www.CommonCoreShests.fr 9

11-15

27

20

13




